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Day 1: Know pairs to 10, and then to 7, 8 and 9.

Hang weights:
6 on one side, and 9 
and 1 on the other. 

Hang weights:
6 on one side, and 9 
and 1 on the other. 

How could we 
make it 

balance? 

6 +         = 9 + 16 +         = 9 + 14

What happens?

6 and 4 balance 9 
and 1. 
6 and 4 balance 9 
and 1. 
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Day 1: Know pairs to 10, and then to 7, 8 and 9.

Move the weight on 
1 to 2. 

Move the weight on 
1 to 2. 

What can I do to 
the other side so 

it balances? 

6 +      = 9 + 26 +      = 9 + 25

What happens?

6 and 5 balance 9 
and 2. 
6 and 5 balance 9 
and 2. 
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Day 1: Know pairs to 10, and then to 7, 8 and 9.

Hang weights:
7 and 3 on one side, and 

8 on the other. 

Hang weights:
7 and 3 on one side, and 

8 on the other. 

7 + 3 = 8 + 27 + 3 = 8 + 27 and 3 balance 8 
and 2. 
7 and 3 balance 8 
and 2. 

Where shall we hang 
a weight this time to 

balance? 


